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CHEMISTRY
Maximum : 60 Scores

Time : 2 Hours
Cool off time : 15 Minutes

fGeneral Instructions to Candidates : _ \
® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hours.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is alse provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.
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1. Empirical formula represents the
simplest whole number ratio of
various atoms present In a

compound.

\9)« Give the relationship between

empirical formula and

molecular formula. (1)

\)X(An organic compound has the

following percentage
composition C = 12.36%,
H = 2.13%, Br = 85%. Its
vapour density is 94. Find 1its

molecular formula. (2)

(1)

¢) What is mole fraction?

Bohr was the first to explain the
structure of hydrogen atom and

spectrum.

ba/)/Give the main postulates of
Bohr model of atom. (2)

yCalculate the wavelength of
. the first line in the Lyman
the

series of hydrogen

spectrum. (R = 109677 cm™) (3)
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OR
rules

of

are some

the

a) There
governing filling

electron in orbitals. State and

explain Hund's rule of
maximum multiplicity.
b) Quantum number gives

address of electrons. Explain

the quantum number which

determines :

1) Distance of electron from
nucleus.

1) The

orbital angular

momentum of electron.

\3/"2y1n the periodic table,

elements are classified into
four blocks. Explain any two

blocks.
\t;)/Account for the following :

. d/)/First ionization enthalpy of
Boron 1is less than that of

carbon.

11)First member of a group
differs from the rest of the
members of the same

group.
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\A/VSEPR theory is used to predict
the shape and bond angle of

molecules.

& Write the postulates of

VSEPR theory.

\}){Explain the shape and bond
angle of NH, molecule using

VSEPR theory.

\9/ PCl_ molecule 1s unsymmetric.
Why?

5. An ideal gas is one which obeys

gas laws.
3) Derive an ideal gas equation.

\Mt 27°C a gas was compressed
to half of its volume. To what
temperature it must be

heated, so that it would

occupy double its original

volume?
1) 54°C

i) 327K
‘iii) 600 K
iv) 300 K

drops assume

‘/c)f Liquid

spherical shape. Why?
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6, a) Which of the following 1s a 6. a) ®eY oM (EIbEDMEE]d
process taking place with a@®oem’ ag)ade(soafl cudavmal
increase in entropy? BENBOBOIMNE).

1) Freezing of water 1) £elo Oag)VOMHIEMIORD

1) Condensation of steam 1) ofleoall caimlealleemiowd

i11) Cooling of a liquid 111) (B0QUdH0 ®EMBNIETLIRD

iv) Dissolution of a solute (1) 1v) aIeodmno @oelwemiow 1)

b) State and illustrate Hess's b) eeoqay’ mlwme limmoallg
law. (3) afludleays:: &t e (3)
7. a) The solubility product of salt ' 7. a) er esmerled emoeymield

1s related to its solubility. Glod2anEsS” moailan eavoalgeni-

‘ , : efigionmoll enimwe Aoy,

1) Give the relation between ’ s 4T
solubility product and 1) BaSO, e smoeyemi-
solubility of BaSO, . (1) eglwie  emoeymileng

o . BalOWSSlo MATleNss eniMo

11) The solubility product of

PUOYD>. 1
BaSO, is 1.2x107° at R M
298K. Calculate <the i) 298K @ BaSO, e@
solubility of BaSO, at eovoeipeniielgl elalowd:s’
298 K. (2) 1.2x107° @oem. 298K @
‘ BaSO, e eavoeyemiend
)z) Differentiate between i o8 & 8
: ©6M8)0 106105, (2)
homogeneous and
heterogeneous equilibria. 2) b) caoocaoslinay’ m&flefien@mgo
anREOIFEINMMY dsflefleniewie
®olenss QYO0 ag) LI (2)
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8. Inaredox reaction, reduction and 8. aosmlseemalio MIErIH MIe:0
oxidation takes place eMQU)o BEOMAWMT MSHNYTN@OET
simultaneously. GleaoEy (Qldommo.

a) aomle@ emgllang Cleawdsmy
a)/Write the redox reaction in
(IOUB@DMO ) FI®YE.
Daniell cell. 1) b) CuSO, epwmlow oy
b) When CuSO, solution stored alo@EDIE aLielofoch cflemioo
in iron vessel, the blue colour 8080 alg) MO oo
0 ?
chany s to pale green. Do you s & ELORILHMIEENSO -
Sy . M0 T186) .
agree with 1t? Justify. (2) ) e
. .. . 236)¢ ok iy
9. a)/61scuss the position of 9. a) eomowmed  afleEwonls
. L esendiglee: quadno aldg) 6.0IQud:.
hydrogen in the periodic table. (2)
b) ®20% OWIMOUIQIOS &0TeMo
b) Account for the following :
Lo Eiaalee o,
‘,j)/ H,0, is a bleaching agent. D) H,0, ecy epllafed aged
1) Density of ice is lower than @Q6r.
that of water. (2) 1) eagMlOm mom® Re:eT e
MO(MBOEWEHNIRD B OO0,
1/0./'3) Match the following : (2) 10. a) eniopoals] c2idoeb:.
A B
i) Caustic soda 1) Antacid
BHOTYles BV @aRomslal’
1) Sodium carbonate 2) Mild antiseptic
saVoal@o &oBenieemE 662G @RMlOTAIGlE:
i11) Magnesium hydroxide 3) Castner kellner cell
Uil OHAOGIWIBOOMICL B0MB OBAMD HTVED
iv) Sodium bicarbonate 4) Solvay process
BILOUWIo SBENEODENIGEMT BLOBEA m«uom)%g“
b) Cement is an important b) o (el Wom Odsls
building material. Explain the QImyOIoem. oo
manufacture of cement. (2) OWaldBMo AYBMROHEE:.
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undergo

Sicl,

does not

31/3) CCl,
A hydrolysis

undergoes hydrolysis. Why?

but

b) Differentiate between

silicates and silicones.

12. @XBond line notations of some
organic compounds are given
below. Write the condensed

formula and ITUPAC names.

y/Give the principle  of
estimation of nitrogen by

Dumas method.

¢) Explain the concept of

resonance with an example.
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13. a) i) Complete the following 13. a) 1) ®oeY ®MIdenm (ldoD

reactions : MEBA OB H6)0.

1) CH,CH,COOK — oS e

2) © SCH,Cl— A% s

i1) Write the names of the 1) o)oeld 6805010180y
above reactions. (2) GOWICWAHMBHEIOS Gal®
Ay, (2)

b) Baeyer's reagent is used to

find whether the compound is b) e MoweMe @oaD MU0 REO[AW

unsaturated or not. What is @D EEMO ag MOl@ M@

GENIE@Y Y olewnd
Baeyer's reagent? (1) =g

. 5016RON]ANIMY.  HMICWY IV
¢) What is the product formed

flewmr@ agmoeelrs? (1)
when ethylene is treated with
. c) agyolefiad e NI
Baeyer's reagent? (2)
Olewz@oow]  (aJUdEDIH6}
GO  HEMBIMM  H@almMo
Qg)Tmo6m’? (2)
\Vée phenomenon of global 14. @pewnog ®oafldnemo (UI@anVV’
warming is due to greenhouse EDANES B006MAOEN HENSOHIMN@.
effect. a) ag)mosm (MaODMY EanH:S?
a) What is greenhouse effect? b) (ABaoDN ansEleR aldlemlo
ADEIETBR ag)OmRI00 (3)

b) What are the consequences of

greenhouse effect? (3)

KR-34 8



